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1. wargmailer FTDFT6T FSHWUTHTSHSHMS Hlenemey
FaMILD UG UTl6L FMDITEHT EHWIT HY&T
er&erolilgenv eraid UH W @ouilev 2a158) 6Tih S
Lrhev auflHFHLS5H60 QussULL (B6Teng)

[A] S&mF-QL6L6) [B] amflwimenrm-Ql_svLed)
[C] @wn&geoIFCH & -G0S
[D] 2_5 55 meuorL -ClL_sL60]

2. Hereu@meuareummiev 61 U 588 Qsmevevl
@evemev?/ Among the following which one is not an

Insectside
[A] DDT [B] BHC
[C] Zinc Phosphide [D] Zinc Sulphide

3. 15CIMALSTeS) LI60T & 650TL 5 ITIJ6U0T I & 6ITIT6L
peiplenmed gHUEGHDG)
[A] suep &8 ammjGLomesT HHSLD &FLLISTEL
[B] euenj&& emmjGLOM6HT (S6MMEUTS SIFLILIST6L
[C] @étraedl6tr DMFGLOM6TT HSHLD &HFLILIGTED
[D] &6H&H&HQDTET (GHMEUTHE &KILILGTEL

4. x,x+2, x+4, x+6, x+8 eT60IM eTevorSHeflsit Fymafl 20
eTeafléL x-601 WO SIS /X, x+2, x+4, x+6, x+8 is
20 then find the value of x
[A] 32 [B] 16
[C]8 [D] 4

5. 2016-1D 34,6007 (D& T60T CLOTEUD6IT LIS T6DT [JS60TIT
all(5815© CHIey QFLILLL 6ul
[A] mEws HuepSHett [B] umii&&m i L, Lig.wim
[C] setrpm e LNeiTemen [D] Si(6p& UM LITH®

6. 1908-1b gy 6v01(h QFsTTEMEITUINEL LOTQILI(HLD
Fal LM HLHH &WImRBlw Hrener
Q& IT6UOTL_ITIg. LG ]

[A] &Uugoevlw Heum

[B] &Liflyoesoflw umrgHlwimy
[C] g gmenibs umyHwmy
[D] 6u.Geéu.& Qi

10.

11.

12.

13.

https://www.facebook.com/groups/targettnpsc @Ig

Neeuheucmaummled erg @hHwmeadleor
Qum@menmeTy HLLLOGHOL CHITHSHD EL6V?
[A] D&&6T QBHTMS eueTHES

[B] @gmiflsv auerj&s [C] Bewr Hlemmey

[D] Geusmeveumiiy gmu® &0

Yo rsHLUUTETTS 6D LoMHMmID
SUIHTANWTsa|b LwaTuGSHSULB G
[A] Gump& QiLblevld [B] oiGurGLmumyLd
[C] N wevetTL&if 661 [D] ogmisT Gg6ir

Qs EneT WM SMHGCeow(H5E qTHITS
WITHEHW Fal L enoLieoU gL &S 6.
3G EMT6L Y MmiFlev LITSHHT CUIT([HSH G

QAWML S S LILIL L §)
[A] &b Swim [B] Gammeusij
[C] Gueigeum [D] GuretrgGev

SLp&samLaummeo @ihHwraiso Nerubmin@Ld

LO&SHEMTLS (HenM 61812

[A] @ 6v01& & (MM D& S EMTL &/ Consensus democracy

{B] DigHlbHi S gleu oS &ML/ Representative
democracy

[C] ufuG& ML L& &6NTL&/ Participatory democracy

[D] seom&mil6ey &&6MTL &/ Deliberative democracy

QhHw SFHwevenoILG FLLGHleT (Lp(LPL

QAU GHemeT &6to1 B TMTTEUHDHT6T HMEYCHITEL 61812
[A] g LiL6mL 2_fl6mLD & 6iT

[B] SiigLILIEML &L 60ILD& 6T

[C] waLuyemy (D] ®gwfemLo

Slcvorenouiley 2608 LTFTUIIW &6bT 6ot & erfl 6ot
UL Ig.wedl6L @\6m6uutihGleTen &6uomilg.sif & 2 eimen
FLL &MU SLIqL 560 F 611q 660D &S 6MI]

[A] D el eLCEHTHTT

[B] iDL 65 Q& TFLSA WY

[C] iDL BTG 6T Y 610Cev

[D] &m1N Sus L CL6L

Nymeiterv BHTLiq.65T 2016-1D 4650719 NS TETT 6MHL 6L
a®gl QubD @b

[A] &heT N&me [B] @ervomuiled (&G
[C] el& D 6LCHTHTT

[D] emif Fevfleu &6t
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14. Which of the following states has launched the Smart | 20. @ 60§ FTHUDM (1 HTTTWSH®S RBIHE)

Village programme to improve public facilities in (Wwenm &evorlg L &l6L 3 &ML 6T HleML &L
villages./feireu(bLd 6THS LOMHlevd QUITESiQM) Qumieugmamer MG &e/ In five tossing of a fair
&gmoLd eTeiTamId HILL H6mg 2016 GLO (LHG6L coin, the chance of getting 3 head is
QAsmLudlueeng) [A]5/16 [B] 7/16

[A] Gujarat /(& RDTS [C] 3/16 [D] 4/19

[B] Maharastra ioamymegiaym 21, 2 uBlLGrusefer CQLOTSS 6T6vor6uoisHema/ The Total
[C] Karanataka /&FBIL&LD

Number of Upanishads are
[D] Mathya Pradesh /0§ HwiyGCs&Ld

[A] 98 [B] 108
15. Nereu(mLd sToummlett SMesTmiSearmeL Qeuefpr® [C] 118 [D] 128
aump @bHuFsamed @hHuTaHE -
SI@IUULILGLD LU6STLD Gmmeug) B SHMmE)
[A] epumil LI Fifley
[B] @2Gpmuiiw pr@&eflev gL B eTen Qb (H&H Sl
[C] &&&m eTevoTQ6TaTIL OIleMEL (MM

. QI&MD LOMBl6L SIP&LD TIEYIEUPLD BT
&6u0TGLTQILD6ITIq60 Fnl L LTS 2016-2eofleL
BLSSW Qeueiten Hleumyesor Liswefluflesr Quwiy (Joint
Initiative by State Govt and Armed Forces for Flood

Relief)
[D] Geuemev eumUILILI60T60ILD [A] meyTas [B] mevsriuas
16. @hAwrailed 2 erar guicosafsd HCausLLTIG) [C] geopmag [D] pepmeus

e QUGDLEW F5USHL AUDD Fulled 23. Gy LML eTeiTaRILD QFWDHME 2 UMM P6iTenm

2 60&I6L (LPGHEL (LLEMDWITS 2 (HEUTSHE FIT S 660
LIGOL_& G| 61T61T 6L & 61T

[A] LmeLCaIT er&ervLilFary
[B] prgmenf 61 &ervLilero
[C] s&\omedr 61&610LNFeM [A] AL UmjésT G

[D] &gmig) eréeroLileiv [B] eivleeuet 14.GTEUTEOLT (D

17. The 2016 Kabaddi World Cup will be hosted ih / [C] siweTpmevor & (9
20161 3y 608TIq.60 2608 SHUig CUIML Ig. 6TThIEG [D] QuiLAl GLOTL L 6L &6 (& (L9
HeOL QUM e6Teng)

24. 2 eudleit SlPsGL LG U ([BIHE CLOMD G
BTG S EH5 G FJ5HGSHMET MG WTEHLD FI5H G
LOMMHMILD EMLOWILONS LOMMEETOT HIeMM(LPSHLD

[A] Allahabad / siev&TUTS
[B] Ahmedabad / sisw&TUTS

[C] Patna / umL_eorm [D] Chennai / Q&etrement [A] 2.8 EmmWsLD

18. 2011 &evrsQsGUNGTLL. (SMDHS &GS [B] &MOpTRY SiMDUHSLD
QammsmWw QaranL @hHw weaflwer NFCsHaD [C] @enés6L HIMMUSLD
[A] @eoL_ 5586y [D] @emermiLd GleOM(LHSLD

[B] oihgLomesr wHmID H&ECHTUTT Fe s 6T
[C] Lmwo6tT WOMID DLW,
[D] sr&pm wHMID BI&T amGeued

25. &6t ULBMLS NeTau@bLd 6THg Glenmuiled
W& e b HFueOLDT6T6U
[A] &FBILS @en&LLTL &I

19. (WEF) mjLilev Qeuefluili L in&emsiLilg [B] 2198 HL6UTS &6M6V(ERIT
2 euagermailw eusmevliflsitered GmMIuiL igeb [C] wo6vaTeL DL &6m6V(EH T
@nswrailsr Hlenev [D] mreusom Sy

[A] 90 eugl @L b QubmeiTeng)
[B] 91 eugl @L b QuHmIeTeTg)
[C] 93 6ugl @L b QuHmIeTETS)
[D] 94 eugy) @L b QuDM|eiTeTg)

26. sfUGH6L MMV Iilg&6T all(Hems QUMM
&6OTGUTL_[TIT60T HLOILD 6T(LDSSHMEN
[A] @6m Mg uimedt [B] G&6ug &&str
[C] Gegmumgs g [D] Qg mev& mLLTlwi6tr
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27. QUIT(H58)15 33. 15 18 L1J Splp(pLb 36 LB LT SI&60(0LD Q& mesorL
LS HBIMHISET 56T 2 WL LF lemailed @[ MHM6L Gevoreuetly e 6wl CHISHH MG 3.5
SI.BHISLUTOUS .................... 1.7756 &L.LB 616l CousHH6v @1q.50&HM6wII HEHHME) .
9. BHSTCHON. ................ 2.8598 SisueurHmledl(hhH gl . @ HLAILSHM (G &L el6L
O .&EHFOTRMRISB ............... 3.7817 8606 G Hifleir &eraieney wirgl? /A river of 1.5m
FF.HLOFLIFOU ..., 4.8126 deep and 36 m wide is flowing at the rate of 3.5 km
[A] 81(1), o5(2), &(3), FF(4) per hour. The amount of water that runs into the sea
[B] @1(4), &4(1), @(3), #(2) per minute is
[C] @1(4), @5(3), @), (1) [A] 3150 m* [B] 31500 m*

[D] @1(1), &4(2), @(4), =(3) [C] 6300 m® [D] 63000 m*

28. GHMIFHLPL SMEEHD 2016-g41d g PWM | 34. 55560 BLMD&HOT SiMLOHGI6TeT LOMBleVLDd?/
alglliug Nermevigd mUSR6HT SHigLO6T eT6YSHS Theethal Beach Located in the state of ....................

Gsmmeumearalmemnm LWeaTUGSHS [A] wergmeggpm/ Maharastra
SoLallg g gleTearg) [B] @@om&/ Gujarat

[A] 50 emLD&Iymedt [C] Gapenn/ Kerala

[B] 75 emio&pmett [D] smIL&M/ Karnataka

[C] 100 smiosymss 35. QU LeueTs i e AUEBLLEGS
[D] 150 ewmosiymedt SNy .o . .
imLbIFGleTen SILFLLGH&eT / The major part of

29. yLOIP&GH6ir Ll6iTeu(hLd 6TH LOITHL L HHMD G the ‘Great Barrier reef is located in the latitudes of
2016 gBeaev WHHW T& WIS NG FIeTen g {AT10%-20° south / 10°-20° QgMH©S
[A] Qe i SiemeoLflsir Blemeowd SIL L [B] 10°-20° north / 10°-20° euL 6@
[B] 2.1, Seor60LA6H [Hemeowsd L L Lb [C] 40°-50° south / 40°-50° Q&HE
[C] aLMu@6nid Si6mevLAl6Hn Hemevig L Lb [D] 40°-50° north / 40°-50° euL &

[D] &6oum&51h siemevLfle Hemeolis SHLLLb 36. wrhlev semaileb SiHs eraflevmer & s smern

30. &76uCHE HMTELLIHG Fal LenLoliLime LAum Q&mesIL Lol L hisefler auflms (penmGu
SOOI (PG6d QL6 QUTFIFEQFWELTETITS [A] Beo &I, Slesnr (56860, Hl@BAHLCoUS), CHevf
SHCUTg usaNCwmHmicTeTEI] [B] Bev&lifl, Goeofl, fevor(B & &6V, &6treoflwim@GLoifl
[A] urg&om Q&eTH [C] Bevdfl, Caef, Loy, setreoilwim@Loif
[B] ~.ugLom FQuwerym [D] Bev&lf, Caevfl, HlpABLGeUES, &6tTeoNlwim(GLoif)

[C] NpmetT&lerv Si6mLDELIT
[D] Ll &evsom Qmeni

37. @pdHwu sipflwevenoliy FLLafld 280
efleurdlug) / Article 280 of Indian Constitution delas

31. s8uSH0L AHTELEOIL Y UITETTSHET 6RETLISTLD with
EIHOTENLE CaibHhs Lo LsTefNmw 6hiE [A] Hi& syCuims [B] B& <y em6voriuiLd
& 6301 (B L1195 G| 61T 61T 60T ] [C] AW uswfwimeny CgijevIT 6)6v0TLILD
[A] @ewLwiomedT [B] @ ememuimedn(Glg. [D] wrfleo uesswimeny GgIjeu 6n6sorLLLD
[C] G&gbsL omis LD [D] sptpeurj&DH@emd 38. &G GM&SHULLL MU 6fleb QAFLEISHG
32. 2. evdleir OB QUAIW Faenl CLO6L AUTHSHSHLILIL L QauaflCw meugerSis (P& SIS FlSMS
g fwibleir 2 HugHenowib (World's largest single SGMSGLD G6UoTLD 6TF)?
roof top solar plant) 6T g mHa 6L [A] 2181 unsleflwTmalS §TEEGLD
SUMLOSHLILILB6iTeng) [B] @181 LigsLOTEH NG
[A] Hlw,QL_6bed) CIEMLEN O [C] 2181 21851018 QUEBHEGLD &6HTEMLOW DL LLIG)

[C] QguiLy [D] 2 gLy [D] el 2 60160 MIEHLOW|LD & 65T6MLOLL|6MLLLIG)
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39. S1p5&5 6L SefOMmsmeT i) 6T6nL uileor 46. 1950-gy6utTiq60 FLL G(p Qeupmev
guieuflenguilev er(LpGIs/Arrange the following MGG LILILL )
element in the order of their increasing atomic [A] Y.eTerv . LA6HT S TNV
weight [B] meuamijeomev Gm(mh
[A] C, AL, Na, P [B] C, Na, Al, P [C] eTLD.6T6OT [T
[CINa, C, P, Al [D] Na, C, Al P [D] eT61v.19.Q1 5 6301 (H 6L &}

40. @pevor® etevordeflenn 3:4 gieuQeussmrgefleor (H.C.F) | 47. HCGurg) omblevrniseneneuuiley 6rhHg &L 8
BUQu@mAUTg Si6uQeustarseflsr (L.C.M) LB&am) SNUULL euemsuileL &8s 2 MILN6T)&men
Qurg) wLMmEG Smeurd/ The ratio of numbers 3:4 Qs (LPHeOILGHev 2 eiteng) (as of 23 August
and their H.C.F is 4. Their L.C.M is 2016)

[A] 12 [B] 15 [C] 24 [D] 48 [Al uTg&Hw Ders T [B] srmudlyer

41. wgysrym WBI6T@IMHUSESH 2115 6U0l ki & 60 e [C] s1omzgeumiy [D] 258w gamgTsemd
QULPMIS QYLD QFHTLHI6L (LD 66T COUITI] & 6T LD 48. 2016-1b gye1(H Y@Ceumasm ufla: (Japan's Fukuoka
2 (HUTHS LHFHW & GleusFlweTer HLL b prize 2016) QuhmeujsHefed @L b QUDITSHeul
[A] el OGpT [B] sy HSw LOSTT [A] wmervLBeir eomi
[C] &w WOIGgT [D] op56u LOSTT [B] S16m108 SIjuySIdGLIT

[C] .245 G omed

42. 196060 &HELGHTETS6T L5 HTVGHHL QAL LEOS S
[D] srams o160 2 6860

QenerTwimesT QIS TeUG| §EMELHSTLONS

afleTri&lw g 49=undl&sUUL g BHS STWILLOIGHE CFIs%GL
[A] (weLg et [B] @sougsm uged er&.@.allemw LpHMILNTSES HaljHs
[C] GabGU [D] QgeneosmTUTS s flwrailer (PHeL BB

43. UL &HHG ABHMHETS SL05 8 6U0TL. ) M)86m6T (Al Lﬂfﬁlumumsm (Bl g,rr'u.lst?rr,r_r).gj

. . [C] swGumgWiT [D] Arus Ly

auflemelu® 815
[A] e, BHLGT, UL, Som 50. &Lp& & 600TL 6TLDLD6MEV G 6T 318 60T Q6L LILIL L
[B] gorrenfl, Som, BILLGT, LU uG&uileb CmEG (P&LLTS H(HLoLN
[C] Swom, mHLOST, HUE, spredh Cuaeomwmailey 2 6Ter aUMISHCHE 6TELEM6L
[D] pyogm, UL, e, Hiom s s QsoHms

[A] Quflw @ wibemnev/aMIDTSIf
[B] Mlw @Lowinémsv/amiomEgen
[C] Qeuefl @Lowinemev/Heumeds
[D] None of these

44. sifugHev QWRNEETI6HT L& & 6viL 6TH
LT&TENSHMS AUBHELUUGSHFGID alsLns &eflo
afleng SiLLeusmeueruiledr 117-6ugl 6flo S §iéH G
(YHw) QUWF G L L LU L G)

[A] etT6or GEMLLIT [B] QameoCGymLm 51. HLOIPHITLIq60 QLOTHS D&HSET QAHTMSHUTEL
[C] QL_etT6vTENs) [D] 84 Fs6tTerv61L THSHM §565 L0&S6T alleusmusms
QG mLH 60T 8 & Q1 & IT6vdT (B 61T61T 6071

45. glfugFlev 2 6THTLIgCouCW WSS 6 Gloeums

Hmieuiur Gerer 5 Wipd HiL6 S GLbgarid [A] 39 &g al510 [B] 44 &5al510
. o L. [C] 56 egalsLD [D] 63 egaisLd

THS IOMUPSHSSH L MLOSESLILL (B6Teng)

[A] Q&M6L&SSHT GlEWM(LPSHLD 52. Qpmiiig 2 LiledT &6v6meuL] QLI (H6ET 6T60T6ur?

[B] (pLbemu GleMM(HSLD [A] Na2CO3+&L19.6 Siflevld

[C] eflem&UUL g 6TLD GlEWM(LP&HLD [B] NaHCO3+&L & siblevLd

[D] Q&mEs glemMUPSHLD [C] NaHCO3+LmjLmfl& gjblevld

[D] NaHCO3+Na2C03
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53. 5HGUTE Si(HewTefler euwig) leucrg Shemgullest | 61. A eTerueul] B-6iT FCHTHI, C eTeiTLU] B-60T HTLL,

auwgleo LUmd). 12 94,6001 (5 & EH &G (LPEITL &1h6o & uiledr D 6T6TLI6U] C-63T SHSLILIGH LOMHMID E eTedTLIeU) D-651
UG SI(H6uilen euwenGLl GUITEL CLPETM LOL MG ST 6TETMTEL, A-6T6oTLIOU] D-ufledr o46umyy. /
eT6ofleb HHCUTEMGIL 21(1h 66T 6UILIG)| 6T 60T 60T 2/ A is B’s sister, Cis B’s mother, D is C’s father, E is D’
Arun’s age is half as his father. Twelve years ago, his mother. Then, A is the of D.
father’s age was three times that of Arun’s what is the [A] Grand mother / umL_igq

present age of Arun? [B] Grand father /gn&asm

[A] 24 [B] 48 [C] 36 [D] 12 [C] Grand daughter / Gug#)

D] Daughter / o&seit
54. DNA gjevur(h &emen Qemeun&Hs LU Leng (D] & /

GumeiTm ¢Ij QI (m6iT 62. LOM&6EUIT SMFLLIT (Magna Carta) 6T6iTLIS)
[A] RNA sm6vGa 6o [B] DNA smevG& a0 [A] Glgwflénd LUMHMIW ) 66wTLD
[C] RNA em&GLoerv [D] DNA sm&GLoero [B] siqLiLIsmL 2 FlenLDs 6T LHMIL i, 626T0TLD

C LIL6OL &L 6MLO& 6T LMLl i 626TTLD
55. weflgfeo LgGIuEW &6 ser &L0& 8L 6Tihg (€] gq.u} . Dl 2}
[D] &L (&L 6T

Crruilesr SIMHGM
[A] steflwismuiLiy [B] Gyt Gmmul 63. @@ H6l HLGHSHGLD ATHDGLD @enL Gl 6if
[C] & erSigLom [D] £ 1q 6vfl&LD 2 M6 (PMMEMW 2 (h6UTEHG6UG)

A ILemL2 flénwnger [B 6OLD
56. BILGT HHMW HLHG QSN CHT&HES Q&M (Al siigluenL-2-fieminsar [B] Giai

g [C] siguuemLsLmws 6T  [D] BHSGIenm

[A] sl Ser Hevgh [B] umevLI6tT 64 GeUTE & H6L H&LD6II6HT &L063TLITL Lg 63TLILG.
[C] @6vghleip [D] &8 L6 Gi&ens SOL&GLD 9 MM6L ieme] / Energy obtained
o . . . from the respiratory equation
57. weyevor_oiL| osmevuilev 2 6o Hleveurmym
.. L. CeH1,06 + 60, = Coy + 6420...............Energy
Camullemnevsd &L 1 W68 6T
. . L. [A] 2900 [B] 2900 KJ
[A] GemevmIH & 6T [B] umbpseT
) o ] [C] 290001 [D] 29000 KJ
[C] @pmeysHyysen [D] omemeury s eir

o o o : 65. GaugnIfeL HTW&HSHT L HeOW 2 (HeuTSHHlweuy
58. euLgmrQuifl LHMID QAHELEVISSTI [A] ferenpmuSs QUTbLOH
[B] e0IMSLDLD [HTWIS &I

[C] efjusy BTLEST

[D] WS &I m6igsue BHTLIS ST

GumeTmeumMIcL &meveriiL®eugi
[A] Sp&&TE0S Lbl6LLD

[B] sumr&iq.8 giblevld

[C] s160CHMFLIS SiLblevLD

[D] eroigwifls gyLblevid 66. BTW&SSFSHM6L WTHEHLIW &TLGHHEL &60I6VHS)
H@mEAWNO(HH G LOGIOE G LTHMHUILILL G

[A] &l(peigemarLiul BHTWS &I

[B] effyliu mrws &Iy

[C] S(pLoemev HTWS &I

59. &mr WefleL sTeaLL@GLL QFHevs 6T
[A] NersemUEG Q&HevLs 6T
[B] wenrmiii(h Q& HevL& 6T
[C] smasermii(®p Q&Hevs 6T [D] eNeoRBTS HTLSSH
[D] eTeuiLbL 6u1g.611 Q& H 60 & 6iT

67. HmeganCHaUTTIHlET 4L 868 TevSHe0L
60. (W& GUIFEET &EMELHSIFLD WIT(HEHL LI

allownsyl CUFFHMmE aNRWDAFU]
&m0 Hlev gp&Imailedl(hhg) QL 606016 G SUBSY TIEDG e 3

CUMTI&F&HSSEHA WL Lwevofl

LD"!D!DU'-"—.‘:gg.ﬂ _ [A] GLMORICSHTLIWEN [B] gm15:&)
[A] Ramriigy [B] apmegsmer [C] @ewrmwig gmeit [D] Ferveurgmern
[C] am\omuy et [D] spenmprias &L
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68.

69.

70.

71.

72.

73.

74.

A& ApHwevemlLE FLL 6L ligLiLIEnL
SLEMLGET 6ThHG HTHWevemwliy HHSHHEF
FLLSH T ceuld @emenarssLuLL g/ Which
Constitutional Amendement Act added Fundamental
Duties in the Constitution of India

[A] 42" Amendment Act/42-6ug) lBHSEF FLLLD
[B] 44" Amendment Act /44-eug) &BSS5E &L LLD
[C] 47" Amendment Act /47-eug) H®HSEF FLLLD
[D] 49" Amendment Act /49-6ugl HBHSE &L LLb

A:B =8:15, B:C=5:8 omILd C:D=4:5 éT6vfl6L A:D-60T

&y / If A:B = 8:15, B:C=5:8 and C:D=4:5 A:D than
A:Dis equal to

[A] 2:7 [B] 4:15

[C]8:15 [D] 15:4

QAL 6LedlUTIgVILD 16T HHMILILMS HeVILD
6TGUOTGTIN DM GCHITLL MG 6D 3I6MLD S & 6MI)

[B] evmeyiSeir Hlev A
[D] QuGpmerv Gi&ens

[A] &gl 6T gi&ens
[C] siomagetr Hevgh

s FINeT Qg emefhHw 6T60LmED
ergleuemyuilepid uyaNul@mhs s

[A] ogiemy, BEETRLT

[B] B€p&mQLT, H®mEATTLILETEN

[C] wgiemy, HpsAymiueTef

[D] ygI&CHTL ML LGS &6

140 Guij sp(p Geusmevemwt 11 mEt-&afléd

Wiy sHlearmeny. 31CsH GeusmevenwI 10 Guiy

& GemenT HITLSefled (Wigliu/ 140 men can finish a
piece of work in 11 days. How many days will 110 men
take to finish the same work ?

[A] 15 days /15 mL_s6iT
[C] 13 days /13 B &6l

[B] 12 days /12 mmL&eiT
[D] 14 days /14 mrL &6t

250 etedrm eTevoreneiley 12 sgHafHLD (&emmeumer
6T6uOT6M6o0T HM6vord/ Find the number which is 12%
less than 250
[A] 220

[C] 200

[B] 215
[D] 245

gflwimer &mev euflengLl Lilg 6T(LpGI&
[A] 17l -&hI&LOIT-FIT(EMH 6UIT- G (ETh 61
[B] &musLOM-&mgr,eu-gleheu-irall G
[C] &m@meu-glEheu-sigailR -FhisLom
[D] glem6u-giusLom-7ail B -&mEmn el

75. gamm) 01: UPSC & SPSC (State public service
commission) SIF&weveniolily iHhGervg Qumm
&SHHST EHLOLILMGLD.
oMM 02: 6 TeL Fal_ (B OMHlevLI Lgsflwmenty
Cajeumememrwid (JNSPSC) oipflwevsnioLiy
SiHSVG CUMTSH SEHLOLIL| I (SLD.

[A] S0 DI @TETELD Heum)

[B] andm) @UELD &)

[C] gadmi 01 &M LLHMID FaHmI 02 Heumi
[D] &ami 01 eumi LHMID Fnmdm) 02 &

76. SOIDHTL 1960 B LTFE (GETMIS 6T MBS Hev
2 eitem QOMSS B umgFer LFLILT6L 2 6iTer

Ble0hISEDS G THFHMa 56015 ) FTISmS
3161M1& & 6ot M 601
[A] 15 s5ai5D
[C] 25 ggaigLD

[B] 19 s56aisLD
[D] 29 &g ai5LD

77. 1.75 oypib Q&ML 62(h FHSPD 2 ML W @(h
euGulg 1) S8 GIIHms &L568 65 meu
sGmmisen &mHm Geustor(hLd / The radius of a wheel is
1.75. How many revolutions will it make in travelling

11 km?

[A] 10 [B] 100
[C] 1000 [D] 10000
78. /3, 6, Y12y e 6TEQID QUGBS S S QABHTL 6T

TLLMeug| 2 mitenus &euol(RLilg&s /Find out the
8th term of the Geometric Progression /s, */s, */1
[A] /24 [B] /s

[C] 1/384 [D] 1/128

79. 810565 6L euMMIEL 6T ol L enLoLILl6 21bhg)
W& QuisbL s afleL speTMeLsm6L

[A] LHEW AT MDHGLD LOTIH6LMIS (ETH & (FLD
fsnymsamer LuEJH afluug

[B] oip&AlwisvemLoLiileir &6mevsmLWIS)STIFLD

[C] SHweiTmmisafler My

[D] eT(paUILLTS SIT&WEL SiemLoLiL

80. sy HUF (h &Mem ¢m.1,40,000- &@ ellhusmneor
Qauleugeir cpevld 20 FHaHLD HLLID
SmLEMN) 6TeafleL 1H6hT SIL&S ailemev /By
selling a car for Rs.1,40,000 a man suffered a loss of
20%. What was the cost prize of the car?

[A] Rs. 1,50,000 [B] Rs. 2,00,000

[C] Rs. 1,25,000 [D] Rs. 1,75,000
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81.

82.

83.

84,

85.

86.

The speed of a boat in still water is 15 km/hr and the
speed of current is 3 km/hr. The distance travelled
downstream in 12 minutes is /ep(fh UL [H6mEVWIT 60T
Bl6L 6utfs G 15 &5 Couss gHlev QF6LEMY).
6fs @ 3 .8 CoussHeo HOITLLLD 2 6iTeng)
ereofleL 12 HILOIL s 6fléb HCmLL femesuisb UL (G
Q&LEVEFGW GITTLD?
[A] 3.6 km

[C] 1.5 km

[B] 2.4 km
[D] 1.8 km

srars Azn@Haaf sliquilsd SLP&samL 6THS
QAT BRI, HeSHEID EUTLEnlqWig)?
[A] QLAGCLmemUL B &6

[B] o4, HCWITervQUIFLD & 61T

[C] NemyCuimenLIL (B &6l

[D] b GevrmervQuUIjLD

The offshore oil fields are mainly concentrated in /
6T6B0TGl6TUTLL &16T0T M) & 61T HL60160 H&LD
SmeorLiL@GL UGS

[A] Continental Shelf /& etorL_& &L

[B] Continental Slope /& 6oL &&ifl6y

[C] High Sea /Im(h &&L60

[D] Sea mounts /&L_60 16M 6L & 6T

Quevor(h FGITRISefer smmeTeys6T (WemmGL 40
Q&8 Hmib 32 Q& .15. @euail@m &gymis efler
uglueneilsit elHHWTFSHmSL LIFLLIOTEUTSHE

Q& mesuTL CLGITMTeUG) FGITHSl6 SHHMeETey
eTetreor2/The perimeters of two squares are 40 cm and
32 cm. Find the perimeter of a third square whose
area is equl to the difference of the areas of the two
squares

[A] 40 cm /40 Q&.18
[C112cm /12 Q&8

[B] 36 cm /36 Q& .16
[D] 24 cm/24 Q&.16

LU UHeuSH g LeiTeu(hLd eTeueumm)
SI6BILD & &) 60T M 60T ]
[A]l smj&SHems UL L LD [B] @l UL LD

[C] 5 HempLr UL L Lb [D] emgL1 UL LD

6flg 2 L eSleb 2 eitar OSLIQUAW 2 161D B
SGyuil?

[A] Goevevorevor &Ll

[B] SipgmemL &yl

[C] Bmeulg &L

[D] @emeu eTglayd @eLem6v

87.

88.

89.

90.

9T.

92.

93.

94.

If “HYDROGEN” is represented as JCJZYSDD, how
“ANTIMONY” will be represented as / “HYDROGEN”
ereirm QFmevemev JCJZYSDD eretimy er(pdlevimed
ereirm “ANTIMONY” Q&mevemev eTLILIG 6T(LDS

Geueor(hLd

[A] CPVKOQPA [B] CRZQWABO
[C] ERXMQSRC [D] CTZOSUTE
simplify \/214 M112 +V72 + 149

[A] 15 B]18  [C]25 [D] 17

WP Hedl6L slgLiLemL 2 flemwnsd @@bHG LNerery
gngnyew &LL 2 fleomwwrssuurL. ifley ergl?
[A] 1ifley 30 [B] Nifley 31

[C] Nfley 32 [D] fley 35

SHEHW ATH6T Hemevenlo QFWIHS QG TLFUTET
[A]l W& Hemeveu]

[B] umps0 HysLofy

[C] sUNBTWST

[D] 8&6u6b LHMID AHTHELS QASHTL L HMLOEFFI]

Nebreuheuaeummlev 618 eNRwmHsy Cuiyy&lesr
IBIT6UT LM & 6M 6T 6LMISH &S LIMEmeU 3 (GLD

[A] LoufeL [B] (&

[C] iy [D] & 6vorL_GLI(m600TL_IT

aMHM]1: 6T6LELIT HTEUFFMDLIELSEIT SITIJIRIS 6T
o.M 2: L,EVTEL 6TELEVN HMPHIGEHLD FHT6U]
FMLDLICL&ET {6L6V

[A] eahmI1 Heuml Eadm) 2 &fl

[8] Gapm) @ramBEL Heum

[C] sapm @t G CLo &)

[D] 8abmi 1 & EnHM] 2 Heum).

S5 5 6L aubMIEL 6Temea "LI(HeUS ST (B &6iT" 6760
S16MLP & & LiLI (b &) 65T M 65T

[A] SIWIETTLOGTITL_ 6V LIG6MLD LOTMITE &IT(H & 61T

[B] SWIETTLOGTITL_ 6V 31&60TM B6DIVLE ST (D & 61T

[C] WLUBTS STE 6T

[D] wemevWwIsHE &T(H &6l

“PBUYDI TETUS| SIPFOOLLE FLL 6w
2 ufljeLp&FEMGLD” 6T6TM| oMoy
[A]l BHwres N.N.6CRHHTEL &)
[B] BHwpay .65 .5568m

[C] BHAWnET 6D @G WGleLeLT

[D] FHAWpET @) .6TeMv.QoUMhISLIFITLO 65T
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95. &1p& &L eummileL 618 QhHI IFFmLoLILileL
GMOUINL§568 MTILOFD GeLem6v
[Al HILL G & NgGLofle QUITGBETTSHT 3y CeomES )
[B] SIF&WeLEMLOLILIGT &6mevemLOWISHTILD
[C] H&weTmm&afléd SHHTILD & euyLdL
[D] uessilwimenj C&Feumemevorid & [HILILO6OTLD

96. cweirm) erevurefler aflHGHLd 3:4:5 eTETMTEL
3l6uQeuctnsefleit L5.&..0 2400 erevflsv,
sl6uQeussnsaflerr L8.Qum.eu /Three numbers are in
the ratio 3:4:5 and their L.C.M is 2400. Their H.C.F is
[A] 80 [B] 40
[C] 200 [D] 120

97. The Subtropical High-Pressur belt is called /g1 6m6vor
SIWesr 2 Wijel(pSHs LOGIIL VLD eTeleUTD)
AOLPSSLILIHLD
[A] Doldrums /GLméLL_[FLDETV
[B] Horse Latitudes /(@&lemny L& Gy6n & 561
[C] Coriolis force /QasmflumeSlervail sm&

[D] Belf ot calm /9i6mL0 &LO6TOTL6VLD

98. Which of the following lies in the Zone Il of Earth
Quake in India? /@b &Hwmailév ceTMTLD HEFeusmev
LOEITLVSHMGE EMJHS LGH) 618>
[A] Kashmir /&meigLBiy [B] Delhi /&leébed
[C] Andaman/gihgomest  [D] TamilNadU/gLBIpmT(H

99. Seu@d AHTLHL AGEHS 3phislen TSI/
Find the next letter in the following seguence of
alphabets: M, N, O, L,R, I, V, ?

[A] A [B] E
[CIF [D] H

100. Cp QsrE&HsUULHeter allagruseflear alds
etetreur? / Find the range of the following data
25,67,78,43,21,17,49,54, 76,92, 20, 45, 86, 37,35
[A]178 [B] 75
[C] 92 [D] 86

ALL THE BEST
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DATE:
TARGET TNPSC
FACEBOOK EDUCATIONAL GROUP
MOCK TEST -45

NAME : ROLL NO:
START TIME: 1:30 hrs OMR COADING SHEET
n ®0 00 % ®O®0O0O® 5t @@ O ©® % ®@® 00 O®
2 @@ 0 ® 7 @O 2 @60 00O 7 @® OO
13 ® e 00 2 ® OO 55 ®6®O©O® [ INONORCNO]
M @O 00 23 @O0 54 @@ OO 7 O 0@
B @00 I ®E OO 5 @ OO N ONONONO)
6 @O0 ® 3 @ © 6 5% ®® OO 1 @ O®
7 @O 0@ 2 OO 5% ®0@ OO 2 ®O® 0@
B @ 0® 33 @O OO 528 ®0®00O® B OEOO®
9 ®0 00. U @GO 55 ®G@ 00O B @@ 0@
10 @@ 0 O® N ONONORO)] i ®@E OO B @O OO®
1" @@ 0 O® s ®@O® O O 5 0 O® 8 ®@® 0 0O
12 @ O0® 3y @@ 0O 2 ® O® 877 @ ® © ©
13 @O® O O 3 OE OO B8 ®0 OO0 8 ®® 0O ©®
17 ®6 00 39 ® O OO T ENONONONGT 89 O @O ®
15 ®O®O® 0 ®®O® B8 ®®OO© 0 ®@ 000
B8 @O OO st ®E OO 6 OO OO 3 ®@® 00 ®
i7 @@ O © 2 ®® 00 7 ®O® OO0 2 @@ Q®
18 ®@O® 0O ©® B3 OO0 N ORONONO) 1w ®O® 0O
19 @O0 0O ©® “ @O0 B2 ®® O ©® ¥ @O O®
20 @@ O ® 5 ®6 006 n @00 s @@ ©©®
21 @®C O w5 @O OO n @00 % @O O ®
2 @00 7 @O OO 727 ®E OO 7 @ ® OO
2 ®@® 00 O 8 @0 0O0O® ZENONOYCRE, 8 @@ O ®
2 @O O©E 8 @O OO 1 @O 00O %9 @@ O®
35 @O OC 50 @® OO 57 @@ CO 10w @0 06
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MOCK TEST -45 ANSWER KEY

1 A 11 C€C 21 B 31 A 41 C 51 C 61 C 71 B 81 A 91 D
2 C 12 B 22 C 32 B 42 D 52 C 62 B 72 D 8 C 92 C
3 A 13 B 23 A 33 A 43 A 53 A 63 B 73 D 8 A 93 B
4 B 14 A 24 D 34 B 43 C 54 B 64 B 74 B 8 D 94 C

5 A 15 C€C 25 C 35 A 45 B 55 B 65 A 75 B 8 B 9 A

6 B 16 A 26 A 36 C 46 B 56 A 66 C 76 B 8 A 9 B
7 A 17 B 27 C 37 B 47 B 57 C 67 A 77 C 8 B 97 B
8 B 18 A 28 A 38 B 48 C 58 C 68 A 78 C 8 A 98 C
9 C 19 B 29 B 39 B 49 B 59 A 69 B 79 D 8 B 99 B

10 B 20 A 30 B 40 D 50 D 60 B(Z20~D 8 D 9 B 100 B
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